-

PRESSURE WASHER LANCES & FITTINGS

PARKAIR

COMPLETE LANCE & TRIGGERS 1620 LANCE NOZZLE PROTECTOR 1620
PART NUMBER DESCRIPTION PART NUMBER DESCRIPTION
PW-JL00145 Fixf)ed gun trigger & lance 900 mm PW-JL001575 3 part front lance nozzle protector
1/4” meg nozzle
PW-JL00155 Swi’vel gun trigger & lance 900 mm
1/4” meg nozzle
TRIGGER ASSEMBLY 1620 GUN INSERTS 1620
PART WORKING PART NUMBER DESCRIPTION
NUMBER INLET OUTLET PRESSURE FITTING PW-JSW204 1/4" HT SW2 1 washer gun insert
PW-JT00118 3/8" BSPF 1/4” BSP 276 bgr Swivel PW-JSW205 5/16" HT SW2 1 washer gur? insert
45 l/min PW-JSW504 1/4” HT SW5 3 washer gun insert
PW-JSW505 5/16" HT SW5 3 washer gun insert
LANCES GUN QUICK RELEASE SYSTEM
ZINC PLATED LANCE & NOZZLE PROTECTOR 1620 FOR PRESSURE WASHER HOSE ASSEMBLIES 1620
PART NUMBER DESCRIPTION PART NUMBER DESCRIPTION
PW-JL00141  Mould grip angled 900 mm 3 part protector PW-JA01570 Quick release spigot
PW-JL00150  Mould grip angled 1200 mm 3 part protector PW-JA01571 Quick release coupling
HIGH & LOW PRESSURE
SWIVEL GUN ATTACHMENTS
TWIN LANCE & SIDE HANDLE 1620 100 — 600 BAR RATED 1620
PART NUMBER DESCRIPTION PART NUMBER DESCRIPTION
PW-JL00144 Twin lance with side handle 1050 mm PW-JA01125 3/8” M x 3/8” F brass swivel connector
METRIC ATTACHMENT
JET WASH ADAPTORS
FOR PRESSURE WASHER
LANCE HANDLE 1620 HOSE ASSEMBLIES 1620

PART NUMBER
PW-JL00153

DESCRIPTION
Lance handle

PART NUMBER DESCRIPTION

PW-HFMK2204 DN6 M22 x 1.5 x 1/4 jet wash hosetail
PW-HFMK2205 DN8 M22 x 1.5 x 5/16 jet wash hosetail
PW-HFMK2206 DN10 M22 x 1.5 x 3/8 jet wash hosetail




